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QUESTION 1

With full-text indexing enabled, which object attributes are indexed? 

A. attributes of dmr_content and dm_attribute 

B. attributes of dm_document and dmr_content 

C. attributes of dm_filestore and subtypes of dm_filestore 

D. attributes of dm_sysobject and subtypes of dm_sysobject 

Correct Answer: D 

 

QUESTION 2

What is the purpose of the Work Assignment Matching Filter on a work queue containing workflow tasks? 

A. defines the skill set for the queue and its processors 

B. measures the workload of a user to best determine task assignment 

C. ensures the placement of tasks in a queue is appropriate 

D. orders the tasks in a queue using dynamic priority and aging 

Correct Answer: A 

 

QUESTION 3

A user wants to add userA as an additional author of a document named "document1." Which DQL statement will do
this? 

A. update dm_document object set authors = \\'userA\\' where object_name = \\'document1\\' 

B. update dm_document object set authors[1] = \\'userA\\' where object_name = \\'document1\\' 

C. update dm_document object append authors = \\'userA\\' where object_name = \\'document1\\' 

D. update dm_document object add authors = \\'userA\\' where object_name = \\'document1\\' 

Correct Answer: C 

 

QUESTION 4

In a repository, which is not TCS (Trusted Content Services) enabled, a user is a member of GroupA and 

GroupB. 
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The following permission set is created: 

Group A has READ permission. 

Group B has DELETE permission. 

The user has VERSION permission. 

dm_world has NONE permission. 

Which access will be given to this user when the permission set is assigned to an object? 

A. NONE 

B. READ 

C. DELETE 

D. VERSION 

Correct Answer: C 

 

QUESTION 5

Which statement is true regarding a dynamic group? 

A. A dynamic group can include a non-dynamic group as a member. 

B. A dynamic group CANNOT be included as a member of a non-dynamic group. 

C. Dynamic and non-dynamic groups CANNOT include one another as members. 

D. A dynamic group\\'s final membership is set when the Content Server is started. 

Correct Answer: A 
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